. VCE & PDF https://www.pass4itsure.com/jn0-251.html
g 2024 Latest passditsure JNO-251 PDF and VCE dumps Download

PassditSure.com

JINO0-25104As

Mist Al - Associate (JNCIA-MistAl)

Pass Juniper JNO-251 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/jn0-251.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

JNO-251 VCE Dumps | JNO-251 Study Guide | JNO-251 Exam Questions 1/3


https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html

. VCE & PDF https://www.pass4itsure.com/jn0-251.html
a 2024 Latest passditsure JNO-251 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which Marvis Action category will detect a bad cable based on information and behavior of a single AP?
A. AP

B. Connectivity

C. Layer1

D. Switch

Correct Answer: C

Reference: https://www.mist.com/documentation/category/marvis-actions/#:~:text=Layer%201%20Actionsandtext=Bad
%20Cable%20Bad%20cable%20cases,Ethernet%20errors%20across%20your%20network

QUESTION 2

How should APs be deployed for location-based services (LBS)?
A. with the LED facing the floor

B. with the LED facing the ceiling

C. with the LED facing a wall

D. with the AP mounted on a wall

Correct Answer: D

QUESTION 3

Which machine learning method involves rewarding and punishing an agent?
A. unsupervised learning

B. supervised learning

C. deep learning

D. reinforcement learning

Correct Answer: D

QUESTION 4

A Mist mesh network supports up to how many hops?
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A. 1 hop

B. 2 hops
C. 3 hops
D. 4 hops

Correct Answer: D

QUESTION 5

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric?

ROOt cause anaIVSis Select a metric to analyze ﬂ # 5 §

Service Level Metrics Classifiers
Time to Connect Authorization 3%
Association 15%
‘ Internet Services 2%
|
DHCP 80%

A. Successful connect averaged 1.6 seconds.

B. Eighty percent of the Time to Connect failures are related to DHCP failures
C. All clients cannot connect to the Internet.

D. Time to Connect Association DHCP failures impacted 80%of users.

Correct Answer: A

JNO-251 VCE Dumps JNO-251 Study Guide JNO-251 Exam Questions

JNO-251 VCE Dumps | JNO-251 Study Guide | INO-251 Exam Questions 3/3


https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html
https://www.pass4itsure.com/jn0-251.html

